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37, How' many times will the $ mark be dnsplayed after the execution of the following pseudocode?

BEGIN
Y op=0
REPEAT
Q=P MOD 2
IF Q =1 THEN
DISPLAY *$
ENDIF
P=P+1
UNTIL P <5
. END

1 @ 2 QL3 . @ 4

38. Consider the Aowchart on the right which mputs a number and displays
the message ‘Vahd Mark’ if the input number is between 0 and 100

What should be the correct. terms for labels ®, @ and ®
respectively?

(1) N<=100, No, Yes
(2) N<=100, Yes, No
(3) N=100, No, Yes
(4) N=100, Yes, No

END
39, Which of the pseudocodes is equiv o the logic
-of the flowchart on the right?

(1) BEGIN : BEGI
READ C READ C
ok 3F =9*C/5 432
SHOW F
END -

?3) (@) BEGIN

. READC
F=9*%C/5+32 F=9*C
SHOW F F=C+32

END '. F=5*C
SHOW F
4 END .

\hxch of the followmo isfare correct regarding programming languages‘7
A - Machine language uses binary digits (bits) based mstfucnons which a computer can
understand. -
B - Assembly is a low level machine dependent programmmo language which uses a symbolic|
representatmn of machine code,
C - High level programming languages are machme independent.
(1) A only “(2) Aand'Conly (3) B and C only (4) All A, B and C

80 - Information and Communication Technology (Marking Scheme) | G.C.E.(O/L) Examination 2018 | Amendments to be Included H



https://www.ict-with-udula-priyankara.online/

Department of Examinations Confidential

8 co0 Bwiw ecuilime®sind Groesnd

@eoriensll Ufmad Haenibsend

g.00.65. (290.005¢) Bwiwe - 2018
s.0ur.g (gr.syl uflens - 2018

Bsco g | go | B¥eS emyonc w1 BBedim mirSeesc
uTL @6V&EHLD LITLLD
I e - BEWS
I usdAyw - elenLsei

gl | BEro g | gd» | 88nd goda | gEm | BEd goma g | 88€xd g
g | el @ev. | gove | el @6V, | Gordd olemL @ev. | qode | allenL @6v.
ellesrm e adleorm slleom )
@ev. @60. @ev. @_ 8.
oL | o . n | e 0 2L | e 0z s S, 03 .
02, | wmanms 12, | e L 22, | .. o1 -~ 32, | L o1 .
03. | e .. 13 | e L 23. [/ 04 33 | ... 0z .
04, | oeoee 0 4 ------ 14. 03 24. 4 ... 02 ..... 34. | ... 0 2 ......
05. | o 2 .. 15. DB s Y o1 . 35, | 03 .
06, | . i 16. DL N 2. | 03 . 36. | ... 03 .
07. 04 17. ‘02" 27. | eeeeee 01 ...... 37. ALL
08. 02 138. 04 ------ 28. | ..... 03 ...... 38. 02
09. | o 1. 19) | e .. 29. | ... 03 . 39. o3
10. DB 20, | e or.. 30. | ... 01 . 40. .oa

Bede coocts o3 B8pomd cna 83

alGs_ oflamssd | ek sfwrer almLbe yeirerl eisLd

Q0 ey / Gurgzll ysielsen 01 X 40 = 40

eom ReggemB Sedn o8 Andoes clmcoged §dwIm Bo1e0 cmey e’ DI,
&b GOIILIL YGEGSD 2 sTyansANneG Simow udGLiey olamasenéGiu ysialsmen UoCHTay
alemmiugHrsHear BniFHuied udes. (

SoE BEndt 2000 25 I oned 8§ cra 25
gflwnen alenLseailar QFrans 40 usdHyd 1 @ear Gurgslieief 40

20 - Information and Communication Technology (Marking Scheme) | G.C.E.{O/L) Examination 2018 | Amendments to be included



https://www.ict-with-udula-priyankara.online/

Department of Examinations

Confidential

Paper 11
Special Notes:

.../.../... indicate only one of the options included are considered as correct answer
Underlined key words or synonyms are mandatory

[..] Indicates marking guidelines

1
(i) If: character ‘m” is represented in the ASCY table ax 108, write down
of the word “no” using 7 bits for each chamcrer.
1101110 1101111
[Either only one of letters ‘n’ or ‘@’ is\€orrectly represented:
1 Mark,
Both are correctly represented but the final answer written OR incorrect:
1.5 Marks,
correct with or without steps
=2 Marks]
(iii) Consider the following simplified logic circuit, Whigh is designed'to swilch on a ceiling fan whea
(a) temperature is HIGH while the power switch is O
for & and €,

. Write down the two relevant logic gates

i e
OF]

Furl)

[0.5 x 2 Marks

=1 mark]
. \
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2. (i) | () Feople who work with computers for Jong periads sometimes complain of seriain bealth issues.
The fallowing shows the Health Issues (lubeled & - ©), Possible: Reasons labeled € - @3,
and Possible Solations (fabeled &~ ®).
Match each health issue G+ @), with 4 possible reason © - and a possible solution ©- & and
wrile down using el labels,
(Note: There can be more than one possibie solution for a given health fssue, However, yor
ave required 1o write only ene solition.)
Heulth lusum : Posilde Reason !
@ - Carpel Tomet Syndromé | | @~ Poor posture ar 2 non-ergonomically designed work speacé
B ~ Compuier Vision $ynrhme ® - Painful compression of & ferve as § passes across
(Digital Eye Strain) the front of the wrist
© - Musculoskelend disorder | [ ~ Looking af compurer screen for protomged periods
Possible Solutions
@ - Rest the eve muscles by fooking up and staring for a moment at objects i the
@ . Stand up snd stretch the bagk, armg and fingess fraquently
® - Take mgutur short breaks from » repetitive task by using an af
< Avoid bending the wrists sed keep the srms, wrists and finge
@& - Use keyboard shorlouts to reduce typing and mouse mo
@ - Avoid himlng the keys too hard while typing / wse sk e
@ . Position e computer sereen 10 avold ghae / use guring o drpes on windows
® - Keep the compuier screen gbout 15 ko 200 de e fovel
>
Health Possible Pos
Issue Reason Solutio
A H Q/R/S/T/U
B I /W
C G QR
OR
A— /R/
B
each for correct mapping of Health Issue with Possible Reason
[ 1 Mark *3
=3 Marks]
1 mark each for correct mapping of Possible Reason/ Health Issuewith Possible
Solution
& [1 Mark *3
| =3 marks]
\ **Note 1: If the answer include incorrect mappings with correct mappings NO
marks awarded
**Note 2:0nly the correspondence between each column in row is important and
the order of columns does not matter (i.e. Solution— Reason OR Reason—
Solution is acceptable)
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(i)

For cach of the issues (labelied Below, identily the relevant term from the Hst and

write down the eom against esch felevant label, ' y

@ - & person receiving an cinal that appears o have come from a well-knows ong
and asking for personal information sch as the credit Sand mumber, tie user
the password of the person's online banking facility

& - The practive of taking someone se’s work amd publishing Sem off s ofPgwr

@ - A porson having unau : :
information sych sz pames and adiresses of customers

B . A person setling unauthorized cuples of & liconsed software at BIE &
. price g

List of terms 1 iy mse. Jorgers, hucking, phishing, plagiofn

A— Phishing
B— Plagiarism
C — Hacking
D — Piracy

[ 1 Marks*4
=4 Marks]|
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3 ) The HTYML source of the web page shown in Figure 1 is given in Figure 2 with certain
missing tags and parameters labelled @ - ®. !

Pxiertlve segslarly or sngnge in gl aotultley
Kt ook saghd’s Haxg sud dik

Fioured web pane

€ s v s

<t
bl Proeinaids
widy whxSowm Hemsal ik
atrs
<
R =
i
<8
<l Dok

[ s S
«disEat plenty of plunt fooda, such: ax fruit.
<li-Funise regnlaly of engage B physiod acth
ixGer a good nights sieep nnd redt </li>
=

@iy 1—»; [0.5 Marks]

2—center <« [0.5 Marks]
—src « [0.5 Marks]
4—alt <« [0.5 Marks]
5—ul  « [0.5 Marks]
6—table « [0.5 Marks]
7—a «— [0.5 Marks]
8—sub « [1 Mark]

[ = 4.5 Marks]
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(i) (6 Use the following fist of terms in answering quosions a) and (61 below.
Lisi of teyens | DNS server, domain nome, FEP, 1P sl server, path to resowrce,
protocol, resource, SMTF, spam mndil, g server, tap devol domain,
siniform resource. locator (URL), web server, World Wale Web

1) Wemify the correct fevm from he sbove Bt for labets B below and wiite the comect

P— protocol

Q— world wide web
R~ domain name
S— top level domain
T-> path to resource
U-— resource
s [

V— uniform resource locator/URL

0.5 Marks* 7
=3.5 Marks]
(b) | . Match the descriptiovs given in @@ with the comeet i given above and
witle down e relevant e againgt e label.
@ | Delivers web pages 1w cliesiy Sgg HTTP
Feelgs. umiquely identify J/compiicrNy S internet
© |Bvery emall that is through a series of i pe
| of servers along §# wadio W imended weipient \
(i3} {inwantcd emait e
A— web server
B— IP Address
C— Mail Server
D— Spam
[ A,C,D correct 0.5 each= 1.5 marks
+ 0.5 for B due to Tamil Translation Error
=2 Marks]|
4(i) By Congites e b opiven bekow coptuining prices oF tvo models of lplop

4N

The defivery cost is Re. 350 and thiv cost is shown in cofl BI6, “Tood™ gl “Yousd iactuding
Erlivery Cost™ are to be  caloulaled for the two models.

fa) Wrise dbwve e formula @il should be d & cell BE o cudouiate the "Tored for Model A
in the forns of ~fancrionicell] :oeli2).

=sum(B3:B5) OR sum(B3:B5)

(@) [=1.5 Marks]
**Note: No partial marks

80 - Information and Communication Technology (Marking Scheme) | G.C.E.(O/L) Examination 2018 1 Amendments to be included n



https://www.ict-with-udula-priyankara.online/



